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Which of the following supports
Windows 64 bit?

(A) Window XP

(B) Window 2000

(C) Window 1998

(D) None of these

Which of the following windows
does not have a start button?

(A) Windows7

(B) Windows 8

(C) Windows XP

(D) None of these

Which of the following operating
systems does not support more
than one program at a time?

(A) Linux

(B) Windows

(C) MAC

(D) DOS

Which of the following is a
condition that causes deadlock?
(A) Mutual exclusion

(B) Hold and wait

(C) Circular wait

(D) All of these

l.

7 & 9 oF fder 64 fde @1 wuc
PRAT 27

(A) fder v

(B) fd=T 2000

(C) fd=r 1998

(D) T ¥ B3 el
frfofad § 9 fo fder # wriE geq
el BIT 87

A) fdert 7

(B) fder 8

(C) fdersr yawdy

(D) T ¥ B3 el
ffoRad # 9 @9 w1 ifRiT Rivew
U6 99 ¥ UG ¥ e IR Bl e
el IRl 57

(A) foraq

(B) fder

(C) #%

(D) SN
frfofad & & o= @ Rufd iR
BT HROT I 27

(A) oA qiEweproT

(B) ! 3R weher

(C) URYH Ycilerm

(D) ¥ %9
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Who provides the interface to
access the services of the operating
system?

(A) API

(B) System call

(C) Library

(D) Assembly instruction

Where are placed the list of
processes that are prepared to be
executed and waiting?

(A) Job queue

(B) Ready queue

(C) Execution queue

(D) Process queue

Who among the following can
block the running process?

(A) Fork

(B) Read

(C) Down

(D) All of these

Which of the following does not
interrupt the running process?

(A) Timer interrupt

(B) Device

(C) Power failure

(D) Scheduler process

5.

6.

foTT $ewd BN UQH HRaT B2

(A) T

(B) R ofd

(C) s

(D) faurren Fdw

fFere iR weflen & forg TAR @ S
arell ufsharell o T dwal W A &
(A) S BaR

(B) IR %R
(C) MW $aR
(D) Uil HaR
ffofad & 9 @9 IFT AR @

AT BN Tl &7

(A) Ud PIeT

(B) de

(C) ST

(D) 199
frfored & & &9 o <& ufhar @1
e T8l Heal o7

(A) TIER F&RC

(B) fearga

(C) fasTelt &1 faterar

(D) ST Hfsbar
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9. What is Microsoft window? 9. HgshRiTTe fder T 87
(A) Operating system (A) iR R
(B) Graphics program (B) Withasd BrIHY
(C) Word processing (C) TS MRARMT
(D) Database program (D) ST TR

10.  Which of the following is group  10. f=folRed & & @9 — A1 W™ @
of programs? TE 87
(A) Accessories (A) TR
(B) Paint (B) e
(C) Word C) TR
(D) All of above (D) TR &

11.  Which of the following operating  11. JEc—HR Jedd & fov g = ¥
systems do you use for a client- I g TRET e o7 ST HYd
server network? 27
(A) MAC (A) %

(B) Linux (B) forrad
(C) Windows XP (©) e v
(D) Windows 2000 (D) eI 2000
12.  Which windows was introduced to 12. HT:f PRI ¥ oF W fder U @ Trfgi
My Computer? or?
(A) Windows 10 (A) fd=Iet 10
(B) Windows XP (B) foerer vaqd
(C) Windows 95 ©) e 95
(D) Windows 98 D) RIS 98
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13.  What type of commands are 13. SN ¥ o= oraf & & @ forv o
required to perform various tasks TN & HHIES Dl ATGIThdl Bidl &7
in DOS? (A) FaRF e
Eg; ;ntternallcommand; B) T A
xternal commands
(C) Valuable commands (©) g I
(D) Primary commands (D) I e
14.  Operating system is a collection of 14.  SIRfET ReA &1 U6 IUE &
(A) Software routines (A) WITCIR weH
(B) Input-output devices (B) gTYc—3acye fearga
(C) Hardware components (®) SRR T<H
(D) All of these (D) q g9
15.  Which of the following software is 15.  RieA AieRR & STAN & el g9
used to simplify using of system ¢ fou ffolRad & 9 f6d dfted®
software? T ST fhar orar &?
(A) Time sharing (A) HI 9Tl DXl
(B) Multi-tasking (B) Heel — CIRBT
(C) Operating environment ©) TR araTaRer
(D) Spreadsheet (D) wrsie
16.  Which command is used to fetcha  16. & FHe & SWN & T8 (.doc
group (.doc of files that have just gl &1 o - apfl gar feam
been deleted)? %) A & fofy fdar S 2?
(A) Undelete (A) 3fedle
(B) Undelete/ all (B) 3rfeae /oMl
(C) Undelete* .doc (C) 3Ffeede * .doc
(D) All of above (D) SR & T4
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17.  Which of the following is system 17.

software?

(A) Operating system
(B) Compiler

(C) Utilities

(D) All of the above

18. What are the characteristics of 18.

stack based IDS?

(A) It is programmed to interpret
a certain series of packets

(B) It models the normal usage of
the network as a noise
characterization

(C) They are integrated closely
with the TCP/IP stack and
watch packets

(D) The host operating system

logs in the audit information

19.  If the sum of the working-set sizes 19.

increases, exceeding the total

number of available frames

(A) The operating system selects
a process to suspend

(B) The system crashes

(C) Then the process crashes

(D) The memory overflows

frforRed & 9 @ 1 Red divedwR

&7

(A) SiRfET Riwen

(B) ®UEeR

(C) Swfany

(D) oW &

W FHIR AT Pl [AAYAT 1

&

(A) ¥ Uaci @l v Mied s@ar o
AT B B forw gEm fha
I §

(B) I UR &0 9v9 & ©U H "Acdd
@ AT SYANT B S Bl ©

(©) 9 Hf/amEd W R T
Yac & 91 fidedr F agd &

(D) BRe SfRfeT R dffse
AR # AT HRaT @

I M B BT AN— A MBR FgaT

T, SUdE BE @ Fa @& 9

arferep

(A) T Red fefdd &7 @
fo Ua wforam &1 9 FRar @

(B) Ried o

(C) 9 fsham $1 8 ol 2

(D) AN 3aRUT & Sl @
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20. The information about all files is  20. W ®EaAl & IWHNT  H @
keptin STl &
(A) Operating system (A) SiRfET Riwen
(B) Separate directory structure (B) 3Tl CEECIRECRI
(C) Swap space (©) WY WO
(D) None of the mentioned (D) P12 W Soord ol T T
21. The operating system keeps a  21. QIfRfST R U@ B W <qd gal
small table containing information g o 9 gell wedl @ aR A
about all open files called SR Bl & o gl o @
(A) File table (A) W1 difere
(B) Directory table (B) frERra arferar
(C) Open-file table ©) A—pTge 2qe
(D) System table (D) Ried Sqar
22.  What will happen in the single 22. Ri7dl oladl SRRGEY H 9T BFTY
level directory? A) i PEel Th & PR
(A) All files are contained in the _
same directory wIfed &
(B) All files are contained in (B) W Wigel & & ®WR W A=
different directories all at the R e
same level
(C) Depends on the operating (©) SfeT R W R Fw &
system (D) o5 W Joorg TEI foam T
(D) None of the mentioned
23.  The operating system  the 23. 3ffWRfeT Rred Riew CQ
links when traversing directory TAEfdad WER Bl WA oxd b
trees, to preserve the acyclic fort SRR & @ ¢ad wRd T
structure of the system. foid Fva 2|
(A) Deletes (A) T &
(B) Considers (B) HIaT g
(C) Ignores (©) 3T BRAT ©
(D) None of the mentioned (D) Prg ¥l Soor@ el f&ar T
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24. To recover from failures in the 24. Fcdd HareH H faweael ¥ SR &
network operations foru SFBRI B F1T IGT o
information may be maintained. Fhdl ¢ |
(A) Operating system (A) SRR RieeH
(B) Ip address (B) SEL IR
(C) Stateless ©) S
(D) State

(D) ¥

25. On systems where there are 25. RieH W W&l &3 MRRET Rred g
multiple operating system, the el 9y @ ofis v @7 Al
decision to load a particular one is ERT RpaT o
done by . . v

- (A) Wlshar a0 <l
(A) Process control block _ y
(B) WIgdl 930 wiid
(B) File control block
(C) Boot loader © <
(D) Bootstrap (D) iﬁlﬁi

26.  Whenever a process needs I/O to  26. 9 Y f&el ufshan &1 fovw & a1 S9@
or from a disk it issues a foU /O @ 3aaedr Bl & a1 I8 U
(A) System call to the operating SIS

system (A) ITRfET Rivew @1 Rivew Pid
(B) A special procedure (B) T e i
(C) System call to the CPU ©) W o Rreen @i
(D) All of the mentioned D) 0
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27. The two steps operating system  27. 3IfRfST Rieq oo Bl o T &
takes to use a disk to hold its flies forv e @1 IYART B B fow @
are .and . | — 3 R
(A) Caching & logical formatting e
(B) Logical formatting & swap (A)
space creation (B) Tfbd wWoHU AR W IffReT
(C) Swap space creation & femtoT
caching (C) U B fpueH iR SR
(D) Partitior.ling & logical D) £ -,
formatting
28.  The program initializes all ~ 28. o RRed @& @ tl%ﬁ@f 2l
aspects of the system, from CPU ARY Rl W AR A AR
registers to device controllers and SATZH DHgleR 3R 1= TR B T
the contents of main memory, and % , 3R R sifieT Rrew Yo P
then starts the operating system. gl
(A) Bootstrap (A) W
(B) Main (B) 9=
(C) Bootloader (C) 9Cdisy
(D) ROM (D)
29. In SCSI disks used in high end 29. T 3id Y=Y H T TS fovd
PCs, the controller maintains a list ¥ e o ® A Wﬁ
of on the disk. The disk is ~
T . . Gl B few @l WU B
initialized during formatting -
which sets asidespare sectors not N gFRrreres fhar S g S
visible to the operating system. TR Reeq @ fowg =8l <9 a1
(A) Dest.rf)ye.d blocks, EIIN Sy B el e S D
partitioning .

(B) Bad blocks, low level (A) T il faer
formatting (B) TRME ik, 1 TR w&HUl

(C) Destroyed blocks, high level (C) T i, Iod TR IV
fi i o
ormatting o (D) R

(D) Bad blocks, partitioning
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30. Which principle states that 30. ®F 9 fUgid @ear § & IUm,
programs, users and even the SYINTHAT IR Ie dd o Reeq @
systems be given just enough I PR W @ fv wiE

ivil fi heir task? Ao :
privileges to perform their tas %Q TG?
A) Principle of least privilege :
(A) P P (A) ®F 9 FA faemRieR &1 Rigia
(B) Principle of process _

. (B) Wfshar fuiRer &1 Rigia
scheduling

(C) Principle of operating system (C) RIET RiecH BT Rigie
(D) None of the mentioned (D) @IS 41 Seorg &l foar 7

31. Network operating system runs 31. +cdd IfmfeT Ried W

on___. Fordl 2 |
. K _
(A) Every system in the netwo A) e e
(B) Server e
(C) Both server and every system (B)
in the network (C) T ¥R 3R Fead § & River
(D) None of the mentioned (D) ®Is 1 Scerd &l foam T
32.  What are the types of distributed  32. faaRd TRfeT Red & IoR @1 &7
i ? v
operating systems! (A) ST RTINS R
(A) Zone based Operating System _
(B) Level based  Operating (B) TR SR SHRICT R
System (C) e ARfET RieA
C) Network Operating System
© peraiing =y (D) & SeeiRad
(D) All of the mentioned

33.  In Unix, which system call creates 33. ?Iﬁ‘cﬂi ¥ BF T R ofa :I‘sg fehar
the new process? ST 87
(A) Create (A) Tohue
(B) Fork (B) @icl
(C) New (C) a1
(D) None of the mentioned (D) PI3 1 Soorg el [HAT T
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34,  Which algorithm is defined in 34. <TZH d@vcH H &g TMReM &l
Time quantum?
. . gAY fepar T 27
(A) Shortest job  scheduling
algorithm (A) WY BIcT 1 ASYfellT TR
(B) Round robin  scheduling L. _
: (B) XSS e Agfe vemRem
algorithm
(C) Priority scheduling algorithm (C) wrAfHehar é@\q SURNSIIROL]
(D) Multilevel queue scheduling _
: (D) FEENT HIR IYfeAT TerliRer
algorithm
35.  Process are classified into different ~ 35.  UfhaT @I q faf= Wﬂé' i
groups in _
- . it foar o &
(A) Shortest job  scheduling
algorithm (A) WY BIcT 1 ASYfellT TAIRYH
B) Round robin schedulin L _
(B) g ®) o o
algorithm
(C) Priority scheduling algorithm (C) ¥ Eﬁ?ﬁﬁ%ﬂ TR
(D) Multilevel queue scheduling _
: (D) FEENT HIR YT TerliRer
algorithm
36.  Virtual memory allows . 36. aﬁeﬂa TR il H_j’ﬂﬁf I
(A) Execution of a process that (A) e Hihar &7 frres Sl 11\9[ e
may not be completely in & =y A S s
e Aow W4 g 29
(B) A program to be smaller than (B) et
the physical memory T
(C) A program to larger be than (C) Th={ TR R B G o
the secondary storage T
(D) Execution of a process D) AR Fﬂﬁr § 7w £ et
without being in physical
qfchaT &1 fere
memory.
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37. The instruction being executed, 37. fywifeq fomr on <@ fdw _ H
mustbein BT AR |
(A) Physical memory (A) ¥Ifd®s Ffa
(B) Logical memory (B) difhd Fﬂﬁ
(C) Physical & Logical memory (C) it 3R afds wfd
(D) None of the mentioned (D) ®is N Scord &l foam T
38. Error handler codes, to handle 38. _g’f% TSN Ple, MY _gﬁ?ﬁ Gl
unusual errors are e ferg gl
(A) Almost never executed (A) T BT e T2l fdar T
(B) Executed very often (B) 9gd IR fwpfed
(C) Executed periodically (C) WHI—\HY R Fwrfed
(D) None of the mentioned (D) @3 N Scerd &l foam T
39.  In virtual memory.the programmer  39. aﬁ?ﬂ?[ TR H 3Rl BT W_I
of overlays. (A) & T & 8
(A) Has to take care (B) € YT & AqhDT Tol &
(B) Does not have to take care © wh N
(C) All of the mentioned _
(D) ®Ig 1 Icokd el febar 1
(D) None of the mentioned
40. A file control block contains the  40. Ud Bl dold <ifd A 7? qN |
information about STFERT B 2 |
(A) File ownership (A) BIsel WfAd
(B) File permissions (B) WIgel FAl
(C) Location of file contents (C) I3l G &I
(D) All of the mentioned (D) G SeoRad
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41. Which table contains the 41. f&q il 4 & ARCS A &
information about each mounted IR H SFHRT Bl 27
volume? (A) TEE a1
(A) Mount table () Rreer-ame W s
(B) System-wide open —file table
(C) Per —process open —file table (C)  wic-sspan oI TeraT
(D) All of the mentioned (D) ¥ Secifd
42. To create a new file application 42. Udh H‘sf Thigd B T 9 &
program calls forc @ Pl oxar B
(A) Basic file system (A) IRF Frsa Rved
(B) Logical file system (B) drfbe WIgel Red
(C) File-organisation module (C) PIge—xTo HTQQN
(D) None of the mentioned (D) 1S N Soorg T fbar T
43.  Whatwill happens when a process  43. T BRI W &l UlhAT W @I §g
closes the file? PN ol 27
(A) Per-process table entry is not (A) Wld— 9Ylhar drforer  wfafie G2l
removed g ol Wl &
(B) System wide entry’s open (B) Riew azs U8 @1 ue @Iee
count is decremented FY 8T o
(C) All of the mentioned (C) RIIECR]
(D) None of the mentioned (D) P12 W Soord ol T T
44.  What is raw disk? 44, T 5 A7
(A) Disk without life system (A) BIsa A & o fowm
(B) Empty disk (B) el few
(C) Disk lacking logical file (©) %@ #& @lod wed Rived @1
system I
(D) Disk having file system (D) TEet R areil 5%
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45. The data structure used for file  45. Wigd FR@ & forg RER) ST Rl
directory is called T HET ST &
(A) Mount table A) M-
(B) Hash table
(B) & <4
(C) File table
(C) WIgel et
(D) Process table
(D) Yfshar arferdr
46. In information is recorded  46. 4 Il @ ey WY § wicl
magnetically on platters. W <l fhdr SIrdm 2|
(A) Magnetic disks (A) W e
(B) Electrical disks
(B) fag fowm
(C) Assemblies _
(C) faerrermati
(D) Cylinders
(D) Riefsy
47.  The heads of the magnetic disk are  47. ﬂ‘s!‘cfﬂ'ﬂ F @ I TH kil \_{ﬁ
attached to a that moves g & o wfl Nuf @ ud gars & WU
all the heads as a unit. B W 3
(A) Spindle
() o
(B) Disk arm
(B) & amM
(C) Track
. ©) 3@
(D) None of the mentioned
(D) ®E ¥ Seoid el fdar T
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48. The set of tracks that are at one 48. USRI @ NbE Sl Th g DI Refa H
arm position make up a BT 2, Uh AT 2 |
(A) Magnetic disks (A) W Brar
(B) Electrical disks

(B) fag fowp
(C) Assemblies _

(C) faerrermati
(D) Cylinders

(D) Ryefe?

49. The time taken for the desired 49. difdd JAdR @ 7@ T8 W ‘Epﬁ 3
sector to rotate to the disk head is T Tl T B HET O & |
called __ (A) TR erga
(A) Positioning time _

(B) Y& TaR <IsH
(B) Random access time
(C) THI B ToreT I
(C) Seek time
. (D) ¥l faetaa
(D) Rotational latency

50. The percentage of times a page 50. AUAST H THF YT AR e @
number is found in the TLB is SIREI] & WY H ST ST 2
known as A) SRel
(A) Miss ratio

(B) fec sy
(B) Hit ratio
(C) A9 yfderd
(C) Miiss percent
_ (D) ®1E ¥ Seoid el fdar T
(D) None of the mentioned
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51. What is an operating system? 51. U IffmRfeT Rived @r 87
(A) Interface between the (A) BSRR 3R o™ UM &
hardware and application 9 e
programs (B) SIERR §OEAl &1 YEUT b
B) Collection of programs that : :
®) prog CIGRDICCARCD
manages hardware resources
(C) e wfdw ARk ¢
(C) System service provider to
. NIERREIE
the application programs
: (D) & Secifd
(D) All of the mentioned
52.  What is the main function of the  52. ®HIS SHIAT & F& BRI HT §?
command interpreter? (A) TerE &R TRaas™ UM & 4
(A) To provide the interface SRON YSF aRE B U
between  the AP and (B) SifmfcT Red # wigell @ ged
application program 7 3 B
(B) To handle the files in the .
. (C) 3FTel SYArTHhal g ffde amey
operating system
(C) To get and execute the next o P SR AR B
user-specified command ferg
(D) None of the mentioned (D) PIg ¥l Seord el f&ar T
53. In Operating Systems, which of 53. dfRfeT Rred # f=faiRed § A
the  following is/are = CPU HH-11 /9 CPU gﬁ@qﬁw TANINGH
scheduling algorithms? 2/
(A) Priority (A) Tt
B) Round Robin L
® | B) e WA
(C) Shortest Job First o =
(D) All of the mentioned ©
(D) T4 JcetlRad
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54. To access the services of the 54. SifRfT RReH @ HawRl @ qg?ﬁ @
operating system, the interface is fors, gexmd gRT e fdar
provided by the ST & |
(A) Library (A) Udh JIDleld
(B) System calls (B) R ofd
(C) Assembly instructions (C) faemTe T4
(D) API (D) T

55.  CPU scheduling is the basis of 55. CPU USgfei BT AR
— (A) ATl — AR SffRfET Riwen
(A) Multi-programming operating

systems (B) E@ A iy RyeeH
(B) Larger memory sized systems (©) TR Ried
(C) Multiprocessor systems D) SR e o e T
(D) None of the mentioned

56.  Which one of the following is not ~ 56. f¥=faiRed & ¥ N T 9 &} 87
true? (A) Fd [ FYR T b RN
A) Kernel i i th :

(A) Kerne rcelrm.ams thm : e Y 3 vEa
memory during the entire .
computer session (B) 3 W T B &
(B) Kernel is made of various forT SifRfeT Rivew gem 4 ofie
modules which can not be Te} fbar & Foar 2|
loaded in running operating (©) &y STRFET Req &1 ugal
t : :
System A B S ST & IR WER A
(C) Kernel is the first part of the
operating system to load into @S Bl & |
memory during booting (D) el 98 WM & ol SR
(D) Kernel is the program that ey @& <l B Pl T4
constitutes the central core of T 2
the operating system
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57.  Which one of the following errors 57. ffafed & 9 o9 A _g’f%f affRfeT
will be handle by the operating RREH ERT S @) Y
system?
(A) Lack of paper in printer (A) T A T B P
(B) Connection failure in the (B) Wcad # $q &l fawerdl
network ©) Ao & Rwerar
(C) Power failure
(D) All of the mentioned (D) W Sl
58. Where is the operating system 58.  JifmfeT Red @ 498 # @2l <@
placed in memory? SITeT 27
(A) Either low or high memory (A) T a oH T S TER ( geve
(depending on the location of TR B W B AR w)
interrupt vector) :
(B) In the low memory ®) =1 A ﬁ_
(C) In the high memory ©) s e
(D) None of the mentioned (D) % A1 S T foar
59. If a process fails, most operating  59. 3IfT ®F Wlhar fawer & WKl 2
system write the error information Afepier R R —arf% G2l
toa_ THERI @l foraan B
(A) New file (A) T PR
(B) Another running process (B) R T <8 yhET
(C) Log file ©) @ e
(D) None of the mentioned D) o & v T8 oar
60.  Which one of the following is not 60. f=foRag & ¥ &= Th CIgH
a real time operating system? e Rew 7281 27
(A) RTLinux (A) IRCIerTa™
(B) Palm OS (B) UM Ll
© QNX (C) T
(D) VxWorks (D) Aroraaart
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61. In operating system, each process  61. JIRfET Req & IS Ufehar &1 0=
has its own 2l &
(A) Open files (A) @T'ﬁ Bgel
(B) Pending alarms, signals, and B) <R o, Ree, ok Ry

signal handlers _
(C) Address space and global S
variables (C) T weim IR APaw T

(D) All of the mentioned (D) w1 Seeifad

62. In a timeshare operating system, 62. TS TIEHIRR ATRIET Ried ¥ o9 16
when the time slot assigned to a fchar &1 |igT T W Tl GO
process is completed, the process ST 2 ar ufehar adu Rafd 9 9
switches from the current state to? STl 27
(A) Suspended state (A) ffsd oy
(B) Terminated state (B) HIE USg
(C) Ready state (©) TR T
(D) Blocked state (D) a%g T

63.  When a process is in a “Blocked”  63. T4 ®I3 Uihal "sfawg” Rafd # 2 €
state waiting for some I/O service. il o5 1/0 AT B YT PR @l Bl
When the service is completed , it g od Cj\'\ﬁ g Wil g dl ¥
goestothe BT I B |
(A) Terminated state (A) GHICT IST
(B) Suspended state (B) fdifed g
(C) Running state (C) T ®e
(D) Ready state (D) IR I
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64. Transient operating system code is 64. &ftrs ITRRET Red oIs 16 oI 3
acodethat i} -
(A) Stays in the memory always (A) T IIC H &l 8
(B) Never enters the memory (B) @ Wl HARI W H YA R
space GG
(C) Comes and goes as needed (C) SATIHATIR Tl 3R oI ®
(D) Is not easily accessible (D) ST ¥ ST ToI 2
65. The portion of the process 65. TS AT Rew § ur Eﬁ?ﬂlﬂ? Eal
scheduler in an operating system I8 el o W99 &7 fo' oxar ©
that  dispatches processes is - I Hae
concerned with (A) TET TR ¥ Yo ufbaet @
(A) Assigning ready processes to
. SIfTETT XAl
wailting queue _ _
(B) Assigning running processes (B) dIvg DI W @
to blocked queue Pl S F
(C) Assigning ready processes to (©) . 4 % DT XS AR ST
CPU Cagll
(D) All of the mentioned (D) 41 JcetlRad
66.  The FCFS algorithm is particularly ~ 66. FCFS TemRe™ & foru foum
troublesome for Y W IR T 2 |
(A) Operating systems (A) ARfST Rvew
(B) Multiprocessor systems (B) TR e
(C) Time sharing systems (C) <cIsH IR ReH
(D) Multiprogramming systems (D) AT RiveA
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67. For an effective operating system, 67. TH WA RfET Rred & forg,
when to check for deadlock? TRRIY T 1T B9
(A) Every time a resource request _
is made at fixed time (A) & R T AR T S
intervals R IR Hﬂ?ﬁ fepar e &
(B) At fixed time intervals (B) ff¥@d w9y 3faRTel W
(C) Every time a resource request (C) & TR WM FRM BT T R
1s made _
(D) None of the mentioned ) i el T o o
68. A deadlock avoidance algorithm 68. TP TfeRe fRaRoT Qﬁﬂﬁ%‘:{ Tferefier wu
dynamically examines the S R 2 G O 1l
to ensure that a circular wait ﬁﬁﬁ?m foar o1 9o f& e uRux
condition can never exist. gadier Rafd a1} qﬁq—c{ TE1 B Gohdl 2|
(A) Operating system (A) SiRfET Riwen
(B) Resources (B) <A
(C) System storage state (C) Riew Wer I
(D) Resource allocation state (D) | e I
69. Swapping  be done whena  69. It T4 9 M Ay e
process has pending 1/0, or has to foy ufbar & 10 dfsd @ a1 daa
execute I/O operations only into MRfeT Req svd & /O TdmeH
operating system buffers. fefed &= 8
(A) Must never (A) ) T2 BT AU
(B) Maybe (B) S
(©) Can (C) TR GH &
(D) Must D) e
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70.  The main memory accommodates  70. HX AR GBI EIRIINS
: PR 2|
(A) CPU (A) W
(B) User processes (B) STRTeRat T
(C) Operating system © d ST
(D) All of the mentioned
(D) |l Seeifad

71.  The  operating system is 71. 3iRfST Riwen fods fou frer 2°
responsible for? (A) TE—d Rpa
(A) Bed-block recovery (B) @ A EL%T
(B) Booting from disk (©) o e
(C) Disk initialization

D) 4 Seoilead
(D) All of the mentioned ®)

72.  Using transient code, the 72.  &fre PIe BT ST FRA gy, BIDIE
size of the operating system during e @ SR RfeT R @1
program execution. PR |
A) Maintai —

(A) Maintains (A) T 3
(B) Changes ®) :
(C) Increases s
(D) Decreases ©) e
(D) el ®
73.  The operating system maintains a  73.  3ITRfST ReH 1 o T
table that keeps track of g Ol 86 oxal ¢ &b fbaw e amdfed
how many frames have been fpv U ¥ fha € R fray Sy
allocated, how many are there, and 3
how many are available.
(A) U<
(A) Memory
(B) mapping ®)
(C) Page (©) k&
(D) Frame (D) wH
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74.  The presents a uniform 4. 1/0O HIRved & fou e 99m
device-access interface to the I/O fSarga — T gevod PRV EEAG] g,
subsystem, much as system calls R Ried @fd tfedee ok
provide a standard interface S Bes b e v s
between the application and the _
_ $CXBY UG BRaT © |
operating system .
(A) Device drivers (A) oI S
(B) T/O systems (B) 1O Ried
(C) Devices (C) SUMY
(D) Buses (D) T4
75. In real time operating system  75. Td <rEH WRET Ried ¥ L
_ (A) b GHIdgT dad Ud  dR
(A) Process scheduling can done frT T Fepar
N Z‘Lly once o B) W IR @ TR T
B processes have the same
priority el &

(C) Kernel is not required © Peiet P D

(D) A task must be serviced by its (D) fbh P BT ! T AT T
deadline period u foam < =nfey

76. Hard real time operating system  76. &S RId < MRfET Req # dfve
has  jitter than a soft real RIel ered SRS RieeH o gorm o
time operating system.  URIEC 2l 2
(A) Equal (A) R
(B) More (B) @

(C) Less (C) F
(D) None of the mentioned (D) I & Seorg T AT T
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77.  For real time operating systems, 77. A <qH AT e o forg
interrupt  latency  should be SR ol B Il
- (A)
(A) Zero B)
(B) Minimal :
(C) Maximum © _
(D) Dependent on the scheduling (D) T FrR
78.  Which one of the following is a 78. f=faRad & ¥ & U T <I8H
real time operating system? MRS Reeq 27
(A) Window CE (A) fiew o%
(B) RTLinux (B) SREIerTa
(C) Vx Works ©) A
(D) All of the mentioned D) R
79. The priority of a process will ~ 79. Ud Ufhar & WM 0 &Ll
if the scheduler assigns it a gfe I ™ e Rer WA
static priority. Ye BT B
(A) Depends on the operating (A) ST Rieed e S el 3
system
(B) Change ®) o
(C) Remain unchanged © e &
(D) None of the mentioned (D) % A1 Serg T foar T
80. What are the characteristics of 80. ENRT JmRd 311%@@ Dl ﬁ‘?lﬁ?ﬂ? T
Host based IDS? 2?
(A) Logs are analyzed to detect (A) W & 9% @ Ul RUIGE)
tails of intrusion 70 ST BT TR R o 2
(B) The .host ope.ra.tmg syétem ®) B
logs in the audit information .
(C) Logs includes logins, file R eif &=l &
opens, and program (C) @M A i, wred Wi 3K
executions BIDIERE L CE NI
(D) All of the mentioned (D) o ScollRad
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81.  Which of the following is not an  81. 9 # 9 ®F U MRfeT Red ==l

operating system? 27

(A) Windows (A) e
(B) Linux (B) foraw
(C) Oracle ©) e
(D) DOS D) <

82. What is the maximum length of 82. N H Bl 19 &l AGdH a5 R

the filename in DOS? ¥
(A) 4 (A) 4
B) 5 (B) 5
©) 8 ) 8
(D) 12 D) 12
83. Which of the following is the 83. fy=fafed & & @9 Acls @1 foaR
extension of Notepad? 27
(A) .txt A) s
B) s (B) TRITH
(C) .ppt (€) B
(D) bmp (D) drHer
84. What else is a command 84. FHHIS IR BT AR FT HET TG 27
interpreter called? (A) e
(A) Prompt ®) T
(B) Kernel © ©m
(C) Shell -

(D) Command
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85.  What is the full name of FAT? 85.  FAT @I R 7 T g?

(A) File attribute table (A) WIgal faerar drfera
(B) File allocation table

(B) W1 ArdcH dlferdl

(C) Font attribute table ©) W= o A

D) Format allocation table :
D) (D) UTRY 3fde difeld

86.  BIOS is used? 86.  BIOS &I IYAN T Sl &7
(A) By operating system (A) RfeT Rived w1
(B) By compiler (B) Hdhcld gRI
(C) By interpreter (C) gﬂTfﬁ?JT R
(D) By application software (D) TSI WUICRR gRT
87. What is the mean of the Booting in ~ 87.  3TmRfeT Rreq # EL%T I R Hdld
the operating system? 7
(A) Restarting computer (A) dIX Al JIRRAT dXAT
(B) Install the program (B) HIIHA RNT B
(C) To scan (C) T &= & forg
(D) To turn off (D) dg Pl
88.  When does page fault occur? 88.  UYT Wicc B9 BT 27
(A) The page 1is present in (A) TS T ¥ e ¥
memory
(B) The deadlock occurs (B) TR B & |
(C) The page does not present in ©) ISl WENT H Iﬁ\_rjﬁ T g
memory (D) %R B B |
(D) The buffering occurs
89.  Banker’s algorithm is used ? 89. % TAMRM &1 AN fhar o &7
(A) To prevent deadlock (A) TfORIET @ 4 & forg
(B) To deadlock recovery (B) TR a9l @ fory
(C) To solve the deadlock (C) TR &1 R A B forw
(D) None of these (D) =T 9§ PIE TS
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90. When you delete a file in your  90. W4 377 U PRI # BIS WA g
computer, where does it go? & d I8 el ol 27
(A) Recycle bin (A) IR 44
(B) Hard disk (B) T[S
(C) Taskbar (C) CIPER
(D) None of these (D) ST ¥ I3 oI
91. Which is the Linux operating 91. foHad afmfeT Req &9 9 87
system? (A) el iR Rved
(A) Private operating system _ N
(B) Windows operating (B) fdeiet SifieT e
(C) Open-source operating ©) IR JARFET e
system (D) T4 A DY 78l
(D) None of these
92.  What is the full name of the DSM? ~ 92.  SIUHUA &I W M FIT 27
(A) Direct system module (A) SRRTC RieA LIRUG
(B) Direct system memory (B) SRRTE Ried AR
(C) Demoralized system memory (C) Demoralized RieeH FARG
(D) Distributed shared memory (D) faRe @ Fcﬁ
93.  What is the full name of the IDL? 93.  JMESINE BT [ TH R 87
(A) Interface definition language (A) SXDY TRMTET 7T
(B) Interface direct language (B) SNy diel 9
(C) Interface data library (C) ToXov SRSIEER
(D) None of these D) o
94.  What is bootstrapping called? 94.  YEERMUT B FEd &7
(A) Cold boot (A) ®lce
(B) Cold hot boot (B) 31 ™ <
(C) Cold hot strap (C) B T T
(D) Hot boot D) a0 T
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95. What is the fence register used 95. dls Yoy fodd foru TN fohar T
for? 27
(A) To disk protection ) R e & B
(B) To CPU protection
(B) WU GRem & forg
(C) To memory protection
(C) WY e & for
(D) None of these
(D) T ¥ BIg el
96. If the page size increases, the 96. Ife UG @l PR dodl g, 3MaIR®
internal fragmentation is also?....? fRgeT Y gar 22,72
(A) Decreases (A) 3
(B) Increases
(B) el &
(C) Remains constant
(C) ReR &ar?
(D) None of these
(D) T ¥ BIg el
97.  Which of the following is a single-  97. fi=foRad & ¥ &9 THa—STINTH
user operating system? TS Reeq 27
(A) Windows (A) fiere
B) MAC
(B) ®) ¥
(C) Ms-Dos .
(C) THH- S
(D) None of these _ _
(D) T ¥ BIS el
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98. The size of virtual memory is 98. aﬁ?ﬂ?[ TR BT R = 9 fed

based on which of the following? R TR 2T 7
(A) CPU (A) W

(B) RAM ®B) ¥

(C) Address bus ©) TH T
(D) Data bus D) ¥ T

99. If a page number is not found in ~ 99. T SR CIEENG CASIEICIIE N ¥ PAS] e

the translation lookaside buffer, TS Al & O 59 Th & w7 H oM

then it is known as a?
ST 87
(A) Translation Lookaside Buffer

(A) IIdE JHarEs I A

miss

(B) Buffer miss (B) R faw

(C) Translation Lookaside Buffer (C) IdIE JHdgs TN fee
hit (D) Sl W

(D) All of the mentioned
100. Which of the following is not  100. 9 H ¥ ®F W TCibIA HTCdIR

application software? TeT 2°
(A) Windows 7 (A) Rier 7
(B) WordPad (B) Téie
(C) Photoshop © o
(D) MS-excel
(D) THYH— Tt

EE R
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options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the answer will be marked as wrong.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on

Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination, please hand over the O.M.R. SHEET to
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